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Pay = hours [3] * rate ;

int score[5] = {7, 8, 9, 10, 11};

++score(2] ; // Pre-increment operation on the value in score [2]
Score[4]++ ;// Post-increment operation on the value in score [4]

amount [count]-- ; /This decrements the value stored in amount .
amount [count--] ; //This decrements the variable count, but dose

//nothing to the value stored in amount [count]
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cla+b]+=2;

X=c[6]/2+c[a+b];




int main ()
{ | S
const int HNUM WORKERS = 5;
int worker;
int hours[HNUM WOREEES];
double pavBate, grossPav:

cout << "Enter the hours worked by " << NUM WOREEES
- — Enter the hours worked by 5% emplovees who all
=

<< " employees who alliyn” earn the zame hourly rate.
) : #1: 12
<< "parn the same hourly rate.\n"; #2: 3

#3: 44
fi4: &
#5: 6

for (worker = 0; worker < HNUHM WOREERS; worker++)
- Enter the hourly pay rate for all the employvees: 12

Here iz the gross pay for each employee:

cout << "Emplovee F" << (worker+l) << ": "; Wz 6144

. - . - #2: 536

cin »>» hours|[worker]: #3: 2528

} #4: 560
#5: 572

cout << "\nEnter the hourly pay rate for all the employees: H
cin >> pavyRate;

cout << "\nHere iz the gross pay for each employee:\n";
//fcr (worker = 0; worker < NUM WORKERS: worker++) \\
double grossPay = hours[worker] * pavRate;

cout << "Employeese F" << (worker+l):
cout << ": F" << grossPav << endl;
! J
return 0;
H
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$¥include <iostreams>
using namespace std;

int a[] = {1,

result=0:;

PRy

2y
int n,

()

] int main

for n=0 » n<S » n++

(
result += a[n]:

}
court <<

return 0;

"The sum i=s:"

40} ;

The sum i=:58

<<result;

Q9w¢“ﬁﬁc9wb




SR

g0 @ ly Silelb) asilgd 1y wlyl o il (sslac)
A5 euw) Slghd el
Aulad a3@tw! “*7 i) paic o osls ol (sl —

{12,3,4,6,13,16,2,7,0,9}
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#include <iostream:
using namespace std;
int main()

const int arraySize = 10;
int n[ array5ize |={12,3,4,6,13,16,2,7,0,8%}; a
cout << "Elementi\t"™ <« "Valueht"<< "Histogram"
int i= 0; i < arraySize; i++ )

for |

cout << i <<
for ([ int
cout<
cout << endl;
¥
return 0;

end main

lnaicaces

LA
]

| T
r

<< nf
gr 3 <« nl[i]:

i :{{II"._.t_II;
Jj++ )

successful

<< endl;
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int main()

const int NUM EMPS

int index;

int hours[NUM EMPS]; Define 2 paralle

doukle payRate[NUM EMPS]; |

double grossPay: :
P

|
e I

5

L]

employee work data |
worked and

%o FT w
i r

a—;—\.---u-s
LRI E

the

]

cout << "Enter

<< HNUM EMPS << employvees.

_mpluyee

G
fal el LW

worked and hourly pay ratez of 5 employees.
employee #i: 4

for employee #1: 15
employee #2:

for employee
employee #3:

for employee
employees #d:

for employee
employee #5:

for employee

nter the hours
ours worked by
ourly pay rate
ours worked hy
ourly pay rate
ours worked hy
ourly pay rate
ours worked hy
ourly pay rate
ours worked hy
ourly pay rate

ere iz the gross pay for each emplogee:
mployee H#H1: 56

mployee #2: 5112

mployee #3: 5198

mployee #4: $586

#5: $132

rates

Tr Falr :f 1

wl) 79) L03) A0

for (index = 0: index < NUM EMPS5; index++)
cout << "Hours worked by employvee " << (index + 1) << ": ";
[cin >» hours[index]:
[cnat << "Hourly pay rate for employee " << (index + 1) << " ©
cin >> pavBRate[index];
¥
"/ Di=splay the data
cout << "\nHere is the gross pay for each employee:\n";
for (index = 0; index « NUM EMPS3; index++)
[grnssFay = hours|[index] * payRate[index]: }
cout << "Employee F" << (index + 1)
cout << ": " << grossPay << endl;
¥
return 0;
¥
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vold showValue (1nt); // Function prototype

int main{)

const int RRRAY_SIEE = 5
int cnllectinnjﬂRRRY_EIEE: = {5, 10, 15, 20, 25, 30, 35, 40}

for (int cycle = 0; cycle < ARRAY SIZE: cycle++)
showValue (collection[cycle] )

cout << endl;

return 0;

} 5 18 15 28 25 38 35 48

vold showvValue (int num)

cout << num << " "; |
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int myarray [40];

void procedure(int argl(])
procedure (myarray) [l LRy
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int main()

const int RRRRY_EIEE = 8

int collection[ARRAY SIZE] = {5, 10, 15, 20, 25, 30, 35,

showValues (collection, ARRAY SIZE); }

return 0O;

 —

vold showValues (int nums[], int =ize) |

for (int index = 0; index < size; index++)
cout << nums[index] << " ";

cout << endl;

}

40%:
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showValues (collection, ARRAY_SIZE) ;
void showValues (int nums [ ] , Int size)
{
for (int 1ndex = 0; Index < size ; Index++)
cout << nums [ Index ] << “ * ;
cout << endl;
+
collection array of eight integers
5 10 15 20 25 | 30 35 | 40 |
nums [0] nums [1] nums [2] ... and so forth 3 “»B
references references references ¥
collection[0] collection[l] collection|[2] i -
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$#include <iostream>
using namespace std:

] vold printarray

()

]int main

int firstarrayl|[]

int =secondarray[] =
printarray
printarray

return 0;
- ¥

(int argll],

for (int n=0; n<length;
cout << argn] << " ";
cout << "wn";

.:5’_

':Et

(Eirstarravy, 3);
(zecondarravy, S);

int length)
n++)

r

15
2 46 8

15} ;
&, B

b

5 18

18

10,

4, 10%;
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$include <iostream>
u=sing namespace =2td;
int sum(int[],int);

int main/{)
int a[] = { 11, 33, 55, 77 };
int size = sizeof(a)/sizecf(int):;
cout << "sum(a,3ize) = " << sum({a,=size) << endl;
}

int sum{int af[], int n)
int sum=0;
for (int i=0; i<n; 1i++)
sum +—= al[i]:
return sum;

d

umnfta.size> = 176
CSJJ"L.).()'SMU)‘). CS')U'D
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$include <iostream>
using namespace std;
]int main()
{ int a[4] = { 44, 32,345,134}:;
cout << "a = " << a << endl;
cout << ™a[0] = ™ << a[0]<<endl; //

a = BA1Z2FF1C
al@l = 44

8 O012FFiC
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¥include <iostreams
using namespace std;
vold read(int|],int&):;
volid print({int[],int):;
const int MAXSTZE=100;
int main/()

int a[MAXSIZE]={0},size;
read(a,=zize);

cout <<
print(a,=size);

"The array has "

E
vold print{int a[],int n)
for (int i=0; i<n; 1i++)
cout << af[i] << " ";

<< slze <« "

gelements: ":

Enter integers. Terminate with BA:

vold read(int af[],int& n)
cout << "Enter integers. Terminate
n = 0;

do
cout << "a[" << n << "]: ";
cin >> a[n]:

} while (a[n++] '= 0 && n < MLXS5TZE) ;
r A4 .don't count the 0

__:-l-r P ]
]_CSM«.‘.QJMb}% ool




	مبانی برنامه‌نويسی� (139-13-11)�جلسه‌ی بيستوچهارم
	فهرست مطالب
	نکات
	نکته
	Slide Number 5
	مثال
	تمرين
	هيستوگرام فراوانی
	استفاده از آرايه‌ی موازی
	Slide Number 10
	ارسال آرايه به تابع
	ارسال آرايه به تابع
	Slide Number 13
	Slide Number 14
	Slide Number 15
	مثال
	مثال
	 

